Library of Functions ANSWERS

Equation Graph
Set
D:{X‘XER} R: {y‘y=c}
Interval
D: (—o0,0) R: N/A
Constant — Symmetry: y-axis (y=o0 also has x-axis and origin)
f(x) =C Even, (ylivoe?s/?ng%NEevi:Eea"nd 0dd)
End Behavior
X —> -0 f(x) —c
X—>® f(x)%c
Set
D: {x‘xE R} R: {y‘yE R}
[Interval
0 (o) Ri (-0,%)
Identity Symmetry: Origin, y=x
f(x)=x Even/Odd/Neither: Odd
End Behavior
X —> —© f(x) —_00
X —> 00 f(x)—>oo
Set
D: {x‘xER} R: {y‘yaO}
[Interval
Absolute D: (_OO’OO) R: [O’OO)
Value Symmetry: y-axis
f(x)=|x| Even/Odd/Neither: Even
End Behavior
X —> —© f(x) — 00
X —> 00 f(x)—>oo
Set
D: {x‘xER} R: {y‘yaO}
[Interval
D: (—00,00) R: [0,00)
Quadratic Symmetry: y-axis
flx)=x°

Even/Odd/Neither: Even

End Behavior
X — —© f(x)—>oo

X —> 00 f(x)—>oo




Square Root

flx)=x

Set
p: {xx=0}  r: {)y=0}

Interval

D: [0,00) R: [0,00)

Symmetry: none

Even/Odd/Neither: none

End Behavior
X — =% f(x)—>does not exist

X —> 00 f(x)—>oo

Reciprocal

£(x) ==

X

Set
D: {x‘x:ﬁO} R: {y‘y:ﬁO}

Interval

D: (—OO,O)U(O,OO) R: (—OO,O)U(O,OO)

Symmetry: origin, y=x

Even/Odd/Neither: Odd

End Behavior
X —> -0 f(x)—>0

X —>© f(x)—>0

Cubic

Set
D: {x‘xE R} R: {y‘yE R}

Interval
b: (~00,20) R: (~0,)

Symmetry: Origin

Even/Odd/Neither: Odd

End Behavior
X —> —© f(x)e—oo

X —> 00 f(x)—>oo

Cube Root

fx)=Ax

Set
D: {x‘xE R} R: {y‘yE R}

Interval
b: (~00,20) R: (~0,%)

Symmetry: Origin

Even/Odd/Neither: Odd

End Behavior
X —> —© f(x)e—oo

X —> 00 f(x)—>oo




Set
D: {x‘xER} R: {y‘yEZ}

Interval
D: (-00,0)  R: N/A

o Clurr]iggeesrt . Symmetry: None
f(x) =[x] e Even/Odd/Neither: None
- End Behavior
X —> —00 f(x) — —00
X —> 00 f(x)—>00
Set
D: {x‘x#O} R: {y|y>0}
[nterval
Reciprocal J/ L D: (_OO’O)U(O’OO) R: (O’OO)
of a Square
Symmetry: y-axis
10 v=0
1
f(x) = ? Even/Odd/Neither: Even
End Behavior
X —> —© f(x) —0
X—>® f(x)—>0
Set
D: {x‘—rsxsr} R: {y\Osysr}
[Interval
. p: [-r,r]  r: [0.r]
Semicircle /.\ Symmetry: y-axis
11 -r, 0) (r,0)
f(x>= r' -’ Even/Odd/Neither: Even
End Behavior
X —> -0 f(x) — does not exist ;
x—>©  f(x)—>does not exist
Set
D: {x‘xER} R: {y‘y>0}
[Interval
Exponential b: (_OO’OO) R (O’OO)
Growth °y Symmetry: none
12 . ] = Y '
f(x)=(b) N
h>1 Even/Odd/Neither: Neither

End Behavior
X —> -0 f(x)—>0

X —> 00 f(x)—>00




Set
D: {x‘xER} R: {y‘y>0}

Interval

D: (—00,00) R: (0,00)

Exponential
5 Decay v N § Symmetry: none
f(x) = (b) Even/Odd/Neither: Neither
O<b<l1
End Behavior
X —> —0 f(x) —
X —> 00 f(x)—>0
Set
D: {x‘x>0} R: {y‘yE R}
Interval
p: (0,0)  R: (—00,00)
Natural
Logarithm Symmetry: none
14 .0
f(x) =Inx [ Even/Odd/Neither: Neither

End Behavior
X — =% f(x)—>does not exist

X —> 00 f(x)—>oo




